R S A IO FsE - E A BRI R O110/12/22

¥ - g ¥
FE R 3-1-3-2 Ta e Behp fE FLk A A B
-~ E-FRHE(F/S5A)
1.( )&AABC*® » AB=4> BC=5> CA=6> ZBACihp £ T 532 BC* D> ¥

—_ = - , 6 4 4 6 2 3
AD =xAB +yAC > pl#ictt (x> y) =2 (A) (—’—j (B) [— ’ —j (C)(—’—j
5 55 55
4 1 A
“”("‘j (E >(—’—jo o
55 55 . 5
4
_ — - — D
Sol: o B & T A& FF soBD: DC=AB: AC =4:6=2:3 AN g v =8~
N — 3—L 2 3 2 [
d ooV iEA g B+5AC:>§£§7L(X’Y>—§ 5 #=iE(E)
2.( McB#7 > OD=0A » T 3|33 ¢ vt 5 £ chi 8 € % & ABOD fp 3% 9
] — 1 = T — = AN /
(AD=OA——0OB (B)—=-0A+—-0B (C)—OA +30B D B
3 4 3 4
(0]

(D)%@Z—EE :

Sol: &ﬁ:xa +y5§=—x55 —l—yal;
F P &ABOD P35> B (—x) 20°y20> (—x) +y<l
=>x<0°y20>  x—y>—1>#%3E? &5 (B)# & =iz (B)

S S EERME (FHES5A)

3 WP?‘*AABC”%—WH%%«’X5=§_§+%TC’fﬁfmpufywc&g’éw
~ skt 1 ?  (A)P BAABC 3% (B)AQ =2 AB +>4c (c)Be_3
5 5 0C 2
PB ‘,5 — — —_— —_—
(D) OPBCE 1 <5 (5)PA +2PB +3PC =0 -
/A\ABC [Hif& 6

ol: (A)l >0 l>0£ l%—l:§<1 J.P 2 ANABC dop 3R
3 2 3 2 6

(B2 A0 = (AP =L AB+L a0 B0 Comrm=tyl 15,208
3 2 3 2 5
6 6
;J;)\%E,'A_h iﬁ+i_€':%_§+§_&
3 2 5 5



BO 53
<C>Q_C 373
5
(D) APBCHR_PO_\ 5_1
NABCTHTE AQ 6 6
(E)AP—3 ;

— —6PA=2PB —2PA +3PC —3PA = PA +2PB +3PC = 0

HEECA)(B)(CH(E)

4( YXA B CLTs t4ph=g

AB + — AC:>6AP 2(PB—PA)+3(PC PA)

—

Q
,,] <
=)
2
m

B ER TP E R A B CZ R MY

(A)30A +40B—-70C=0 (B)AC+24B= 0 (C)AB+ BC =AC
(DYOA=L0B+20C (E)0C=20A-20B -
5 5 3 3
Sol: (A)30A +40B —70C — 0 =70C —30A +40B = 0C — ;mgag
A B C=gE2 &,
(BYAC=-2AB . .A> B C:ﬂb*ﬁéﬁl
(C) AB+BC—=AC=AC—=AC A B>C5Td¢ rxizu.
Dy Lid—1 cA.BrCczume
5 5
.5 2 . o o
(E).§+(—§):l CASB>CZELE s 2% (A)(B)(D)(E)
ZHE AR (FH104)
SAABCY » %A (2:8) »B(—1:5) »C(7+2) » BIAABC 2. ¢ = % 4L % .
Sol: 3% G & ANABC eg @
g (2D 4T 84s12) (8
3 3 3
:(1,&),7:(3,_3,\/5),5‘]1]:
(1)a -5 = c (2)a #h i :
Sol: (1) a - b =1x3+3x (—3J3) =—6
(2) ] Ta | =412+ (B3P =2 | 7\—J32+< —343)2 =9+27 =6
£ 8 h kb L0 B cosd = _f b_. S U S T
‘ a ’ ‘ b | 2x6 2

2 p qmd k51207



—

T3 a =(3:2) b =(4k) ¢ =(421) R

()22 L Db > alk= o () (a +rc) L e »ali= .
Sol: (1) L b .a - b =0=23x4+2xk=0=>k=—6

(2)a +t ¢c =(3°2) +t(4-1) = (4t+3>1t+2)

(a4t c)Lle (a+tec) - -¢=0
(430 1+2) - (401) =0
4 (443) + (142) =0 171+ 14=0=> 1= —
8. &4 kT 5 t PAABC ¢ > P BCif2 ¥ 8> Q & ACi#+ » AQ=20C + ¢ &wPA= (4>3)
PO = (1+5) » Al BC = o
Sol: BC=2PC » &£ AAPC ¥ > d /s 8.2 210 PQ — % +%FX

—2PC + PA =3PQ
—2PC=3P0 —PA=3(1:5) — (4:3) = (—112)
%BC=2PC= (—1-12)

vﬁ—%“% ?‘Eﬁ)‘—r;"l%‘ﬁ{'ﬂ

1 2 3 4 5

E B ABCE ABDE @ : 5)
6(1) 6(2) 7(1) 7(2) 8
—6 120° —6 —% (—112)




B AKnso DUESL O B o #E AN BEFER 110/12/22
FRCEHR 3-1-3-2 Th » Rep ff FLa eaga T
-~ E- ERFES )

1( )BEAABC*® » AB=4> BC=5> CA=6° LBACihp £ T 32 BC* D> ¥

—_ —

D —x AB v AC s BB (x o v) — 6,4 4,6 2,3
AD =xAB +yAC > pl#cit (x0y) =9 (A)( 5] (B )(5 5) (C>[5 5]

4 1 3 2
(D)[g’g} (E)(g’g]"

¢ ik e § i ELEE & ABOD i 389

2.( )icB®#rw > OD=0A > T 7|
(A)-OA——-0OB (B)—-0OA+-0B (C)— OA +30B D B
3 4 3 4
(0]
1_; — A

(D) OA — OB -

DS EER (FH5 L)

3.( );QP§AABC5L%.1¢6:J51—;¥&’X;I%_§+%A_CL"_F’E_fsfilAPti BC* Q3R
VT ) Lo — 2= 3= BO 3
TARETREEFEY (A)P EAABC R 5 (B)AQ =L AB +SAC (C)5e—)

APBCTHE ., ., . 5 - —
D)=——— g 5 = PA +2PB +3P 0 -
( )AABCE$E . (E)

4( YRA B> CHTa I ApR =8 05 T5 1 E- 8 @FR TPkt A B> C2 B2 M7
+

(A)30A +40B—-70C=0 (B)AC+2aB=10 (C)

(D)OA—%5§+%O_5 (E)O_GZEOA—% B



S CH A (%110 4)
5/NABC* » %A (2°8) *B(—1-5) »C(7°2) » BIAABC 2. ¢ = ¥ & 4

6% a =(1>V3) > b =@ -3B) »a:
(1)a - b = o (2)a D ks .
73 a =(3:2) 0 bo=(4k) > ¢ = (451) »
(1)¥a L b »nlk= e (2)F(a 4+t c) L e »pli=
8 A LT H 1 AAABCY P % BCH2 ¥ 8.2 Q £ ACH I ? AQ=20C « ¢ «wPA= (4:3)
,Fé:(1’5> ’EIJB_CL: o
%ﬁ-%—?ifgiﬁ%"’}\ji
1 2 3 4
6(1) 6(2) 7(1) 7(2)




